TR

FHTE

RanEE

BzFEs W

BF

b

IR / W
Bt

Bz
AcfARR

)
EREE

#z
H=/A
R

[J40mm
[160mm
[180mm
[185mm
[J100mm
[J120mm

Motorized Stages

oSMSZFIBEES—stHS Yl | 0sMs26-(xY) F&RtT0mm [RoHS|[ CE |

HZIEHRT
LB

BNl SRENNERESRERE RS HBENEBHTE.
® HUEITE WU, AR, Btk

[ R

> INFEE B, 558, EDI G017, G123 (BFA)iE8)
D A w9500

PR EGIESRIER R EDI G123

DXIZE W9006

> NFRR BHFUWLHX T MEFAIRAN TR HERKENIE, F

EUELZE .

ARG
e OSMS26-50(XY) OSMS26-100(XY) 0OSMS26-200(XY) OSMS26-300(XY)
MeE 2 OSMS26-50(XY)-M6 | OSMS26-100(XY)-M6 | OSMS26-200(XY)-M6 | OSMS26-300(XY)-M6
INCHE S 0SMS26-50(XY)-INCH | OSMS26-100(XY)-INCH | OSMS26-200(XY)-INCH | OSMS26-300(XY)-INCH
172 (mm) 50 100 200 300
SAER~ (mm) 100X 100 100X 100 100X 100 100X 100
(M6, INCH) (120%120) (120X 120) (120X 120) (120X 120)
Wb £4T (mm) FKRZIIER 68 5122 | FHRZIIERZ 68 5122 | FHRZIIHERZ 8 582 | BHLIER+8 5iE2
BAER | SRR URISNE4), URISNE3), [OF:LE7 =28 UBISNE4),
FEHH RE RE HEE B
REAE EEER BE@El EEER E@ER
BE (kg) 4.4 5.4 7.6 8.0
" (&%) (um/ikin)
A (%) (um/Bkif) 2 2 2 2
B BREE (mm/sec) 40 40 40 40
BB | R EaE N (N) 98 (10.0kgf) 98 (10.0kgf) 98 (10.0kgf) 98 (10.0kgf)
fEZhEIEBR (nm) 3 3 3 3
XYEHE (um) 5 5 10 5
fERRAS PRI LR GP1S092HCPIF (B (#) )
- WRPRAL B 1L R 2R A (BHA) A (FH) A (BHA) A (BM)
B RfERE (B g (BEF) H (EF) A (EF)
plig 30X 1] A (BT g (BF) | (BT (BT

R/ e BB B AR R AR

E: 3 5iE& ¥l 0.75A/48 (ORIENTAL MOTOR (#) )
Al fil) PK525HPB-C4 ([128mm)
IR 0.72°
FRE R DC5~24V+10%
EFER R 160mARLT (1380mA R T 14 5R 2 20mA L T)
ERE | e s NPNEFRR S DC30VEITF50mALLT
EEmaY " ST ﬁﬁﬁﬁ‘aﬁk%‘OFF (E!iﬂ:)‘
LR : HHRAEON (5il) : FafeRies. iR ERE
(5EE) BHERANNEE
RE OSMS26-50(X) OSMS26-100(X) OSMS26-200(X) OSMS26-300(X)
ERAERE (um) 5 10 15 15
ESEMNHEE (um) 3 3 6 6
640 (7 /N = cm) 0.23 0.23 0.23 0.23
R H4ERIE R ("IN cm) 0.12 0.12 0.12 0.12
AR #2 (“/N - cm) 0.2 0.2 0.2 0.2
1742 (um) 3 3 5 5
F4FRE (um) 50 50 50 50
EETEITE (um) 10 10 10 10

FERARLE

W IR RO BNRE / IR RS

RZE

SG-5M, SG-5MA, MC-S0514ZU, SG-514MSC, MC-7514PCL

g

GSC-02, SHOT-702, HSC-103, SHOT-302GS, SHOT-304GS, HIT-M - HIT-S, PGC-04-U




X8 \W9068

2D
CAD

Slm)
CAD

SN

OSMS26-* * (XY)

E A7 FIEHE M4X10...107 (50, 100)

A7 A2 M4aX10...1475 (200)
N2 M4ax10...187K (300)

OSMS26-* *(XY)-M6

E A7 24 M6X10...107 (50, 100)

N FUEHE M6 X10...147% (200)
N FIEHE M6 X10...187K (300)

OSMS26-* * (XY)-INCH

(7] AN FIIEAE 1/4-20UNCX 3/8...107K (50, 100)
FI7NFII2HE 1/4-20UNCX3/8...147 (200)
FI7NFI2HE 1/4-20UNCX3/8...187K (300)

WiE&E

LA S

TR () &)

SDAB-15PHEL &

— BNS%
— RiS%
— BSL
— BNS%
— BNSL

E

GND (ov)

5~24VDC

Ls(—)
N.C. (RIEM)

[~ RESERVE
—N.C. GREM)
Ls (+)

NEAR
N.C. (RER)

TE RRAUIAR PR AL B A A8 0 + T el

GED BUELRE: E—mFTW () #

WEB http://www.sigma-koki.com/index.php?lang=cn

17JE-

A (NEAR)
RRE BB
HESRFON

B (+)
ARPRAL B ek ey
ASERfON

HE ()
elb e
GP1S092HCPIF

FEHU (—)
ARPRALE ek aR
ASLETON

13150

W 25088 / 3R = A8 FIFE SR AT L AL

z]Controller_CoppSyCable g

GSC-02
SHOT-702

(2%h)
(2%)

SHOT-302GS (2%#)
SHOT-304GS (4%#)
HIT-M-HIT-S (8%#)

PGC-04-U

5:] Driver _CoppSjyCable g

(4%)
D] G109~117

H RN AR

EDJ G020~G021

100 100
20 45 __ 45
79 5
= 3535 27-M4X0.7 iF6
25 | 25 —
6|16
ole
r A - n
HoLH i ¢ o]0 r—
) A 31 ol 2
bl fd ® ool 2 S
" paa=LLEN
L oA «
4" 2 K3 :: :‘ K 3 k3 £a) ',‘ ‘ ’ % 4 -
o + 3+ <
I e | ° (HRZEFREE) SMIX05 Ro
= = = (Y Y £ £ 5
I B e A | B |C D E |F
| 1 fﬁ" 0SMS26-50(XY) 267.5| 86.5 |11.5] 150 (25, 50X2, 25) |10-¢4.5| 25
N . = ,H 0OSMS26-100(XY) 3175 | 1115|115 200 (50x4) 10-94.5| 50
3 /I —
A EF 100 AFEEF ‘ 5| o 0SMS26-200(XY) 4175 161.5|11.5 300 (50%6) 14-$4.5|100
B |43 0SMS26-300(XY) 517.5 | 211.5|11.5 400 (50X 8) 18-94.5| 150
A 86
18- 0 458 120
120 50 50
100 75
- 3535 17-M6 X 1 %6
- 25 | 25
16 |1 / 10-M4X0.7 6
[ ele || S
~ (o 3K o) al N n Py o
A A *E'i' :‘e;‘o‘o’ Qgggo
R N g c‘c’ ool g e &
.o . 8 o
[f o % T sofes, 2 o o |'ﬁl_ 0*’2*‘\3\ - ]
So 9 00 h¢
X 1= : e 8-M3X0.5 6
N o' $ e b N (ERREARER) S22
T _o o (s®®%*® 4[5 o o
N o sl e BE A | B |cC D E |F
o N § OSMS26-50(XY)-M6 | 267.5 | 86.5 | 11.5| 150 (25, 50X2, 25) |10-¢6.5| 25
N ol o] Jo = o El 0OSMS26-100(XY)-M6 | 317.5 | 111.5 | 11.5 200 (50%4) 10-46.5| 50
| TasEr | 120 | A s |\ © OSMS26-200(XY)-M6 | 417.5 | 161.5 [11.5| 300 (50X6) | 14-$6.5| 100
:4_2 \ 0SMS26-300(XY)-M6 | 517.5 | 211.5 [ 11.5 400 (50X 8) 18-96.5| 150
86 \
18-065REH 50.8 b 50.8
76.2 17-1/4-20UNC 6
69/85
= 5.4|25.4 10-8-32UNC iR6
88 [15.88
r — i © ©
" § 0 (0.0 o
o o E\ | o |© —_ o S .
o o g c‘c‘ \;‘céggwf‘—‘
R C ”"6"’:\ 8
f S °© o e
B R J o
I8 PRS2 o (LREHEFLFEE) \ 8-6-32UNC iR6
AR RS AT S ° e A c D E|F
* M E = 0SMS26-50(XY)-INCH | 267.5 | 86.5 | 10.3 | 152.4 (25.4, 50.8X2, 25.4) | 10-07| 25
B~
M M i'E o 0SMS26-100(XY)-INCH | 317.5 | 111.5 | 9.9 203.2 (50.8x4) 10-¢7| 50
G 3
= ele 2 0SMS26-200(XY)-INCH | 417.5 | 161.5 | 9.1 304.8 (50.8X6) 14-¢7| 100
RESEEF | 120 | FIHVEEF © 0SMS26-300(XY)-INCH | 517.5 | 2115 | 8.3 406.4 (50.8x8) 1807/ 150
B
A 18- O TRETL

D15D15A-CA
EDI G120 0SMS26-50(XY)
0SMS26-100(XY)
0SMS26-200(XY)

DAC-SG
ED] G120

0SMS26-300(XY)

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

3323

FHTH

RanEE

WEzFE

BF

e

R / W
NG

Fitrl
AcfARR

HEEHRTI
LB

[0100mm
[0120mm



